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The issuance of the “commemorative banknotes” by Bank of China (Hong Kong) had received overwhelming responses. Lots of Hong Kong citizens joined in the speculations of the banknotes. How did this event related to the economic principles? Mrs Ng, a hostess of the TV programme “Cooking in Ng’s style”, led us to reflect on the economic principles in humorous style: were the banknotes worth $150 each, as quoted by the bank? Why did the elderly and housewives be the main group of people queuing for the banknotes? Would the long queuing lines raise or reduce the society’s welfare? What did Economics say about the nearby shops that were affected by the long queuing lines?

The video demonstrates economic principles behind the event, and introduces the concepts of opportunity cost, demand and supply, market equilibrium, non-price allocation and externality. It concludes by the statement: “economic theories are everywhere!”, showing that economics is not only an academic subject, but indeed much related to our daily life.
Key Question
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What is economic efficiency? What are the welfare implications of different resource allocation mechanisms?
Key Concepts

1. Opportunity cost

2. Demand and supply, equilibrium price & resource allocation mechanism
3. Externalities

Learning Outcomes

1. Understand the basic concepts of opportunity cost, equilibrium price, demand and supply

2. Understand different resource allocation mechanisms and their efficiency implications

3. Understand the concepts of externalities

True / False Questions
	1.
	A price ceiling is a legal minimum price for a good or service.
	

	2.
	If a price ceiling is effective, it will have no effect on the market.
	

	3.
	Effective price ceilings always benefit consumers as consumers can buy the goods at a lower price.
	

	4.
	If the equilibrium wage rate is $20 per hour and the minimum wage is $28 per hour, a shortage of labour will exist.
	

	5.
	In a competitive labour market, a binding minimum wage creates unemployment.
	

	6.
	Most economists advocate price controls as a way of allocating resources in the economy.
	

	7.
	Rent control may result in a lower rent for an apartment, but the quality of the apartments in the market may be lower as well.
	

	8.
	Prices guarantee an equitable distribution of goods and services among consumers.
	

	9.
	A minimum wage usually leads to an excess supply of low-skilled labour.
	

	10.
	When policymakers set prices by legal decree, they are always improving the efficiency of the economy.
	


MC Questions
1. Which of the following statements is the best interpretation of price controls?

A) Price controls never help those they are designed to help.

B) Price controls always help those they are designed to help.

C) Price controls may hurt those they are designed to help.

D) Price controls never hurt those they are designed to help.

2. You are responsible for designing the economic policies of Fred’s Republic. Recently, the neighbouring country, Franko’s Republic stopped all exports of oranges to your country. David, one of your advisors, suggests setting an effective price ceiling in order to avoid a shortage of oranges. Andrew, another advisor, argues that without an effective price floor, a shortage of oranges will certainly develop. Michael, the third advisor, says that the best way to avoid a shortage of oranges is to allow the market to make the adjustments. Which of your three advisors’ opinion is most likely to be supported by economic reasoning?

A) David

B) Andrew

C) Michael

D) Apparently, all three advisors have studied economics, but their views on positive economics are different.

3. Allocating a resource by queuing is

A) causing resource loss, because it wastes buyers' time.

B) the only way scarce goods can be allocated.

C) efficient, because those who have lowest time cost will get the goods.

D) only necessary if price ceilings are not effective.

4. A consequence that is most likely to result from either a price ceiling or a price floor is

A) an enhancement of efficiency.

B) excess supply.

C) excess demand.
D) inefficient allocation of resources.
5. When policymakers set prices by law, they

A) usually improve the organisation of economic activities.

B) interfere the signals that normally guide the allocation of the society’s resources.

C) are usually following the suggestions of mainstream economists.

D) are sacrificing equity for the sake of a gain in efficiency.

6. Suppose the equilibrium price of an interesting economics textbook is $200, and the government imposes a price ceiling of $150. As a result of the price ceiling,

A) the demand curve for the books shifts rightwards.

B) the supply curve for the books shifts leftwards.

C) the quantity demanded of the books increases and the quantity supplied of the books decreases.

D) the number of books transacted in the market will increase.

7. If an effective price ceiling were imposed in the car market,

A) the demand for cars would increase.

B) there will be a shortage of cars.

C) there will be a surplus of cars.

D) All of the above are correct.

8. Which of the following statements would best describe how the market reacts after enforcing an effective price ceiling?

A) A smaller quantity of the good is bought and sold. 
B) A larger quantity of the good is supplied. 
C) A smaller quantity of the good is demanded. 
D) All of the above are correct.

9. Which of the following statements is/are correct?

i. A price ceiling is not effective if it is set above the equilibrium price.

ii. An effective price ceiling causes a shortage and an effective price floor causes a surplus.

iii. A price floor is not effective if the price floor is set below the equilibrium price.

A) (i) and (ii) only

B) (ii) and (iii) only

C) (i) and (iii) only

D) All of the above statements are correct.

10. When a price ceiling is enforced in a market and the ceiling is effective,

A) other rationing device(s) may arise.
B) both buyers and sellers are benefited equally.

C) both buyers and sellers are harmed equally.

D) the quantity supplied would increase.

Discussion Questions

1. In the video, commemorative banknotes are sold on a first-come, first-served basis. Many people queue up in order to purchase a $100 face-value commemorative banknote at a price of $150. The quantity supplied of the commemorative banknotes is determined by the Bank of China (Hong Kong) and is fixed.
(a) Based on the information above, is quantity demanded for the banknotes equal to the quantity supplied at $150?  Do you think the equilibrium price for the commemorative banknotes would be $150? Explain with the aid of a supply-and-demand diagram.
(b) Suppose the resale price of a commemorative banknote is $850. In order to buy a banknote, you have to queue up for 10 hours. Assuming that your time cost is $80 per hour, would you queue up to purchase the commemorative banknote?  
(c) Assuming that time is the only implicit cost for buying commemorative banknote, and the resale price of a commemorative banknote is $850. If it takes a person 5 hours in order to purchase a banknote, what would his maximum hourly time cost be so that he chooses to queue up for the banknote?
(d) What is non-price rationing?  

(e) Assume that people are rational and have perfect information. Explain whether people in the front of the waiting line have the same opportunity cost as those at the back of the queue.
(f) According to the video, which group of people is more likely to queue up for the banknotes? Explain your answer.

2. Shortage of banknotes exists when price set by the bank is lower than the market equilibrium price. This leads to non-price rationing. As shown in the video, queuing is an example of non-price rationing.  Total cost is the sum of explicit and implicit cost.  
Assume that a commemorative banknote with face value $100 is priced at $150, and the resale value in the second-hand market is $850. Suppose one has to queue up for 10 hours to purchase one commemorative banknote.
(a) If your time cost is $100 per hour, what is your total cost of buying the banknote from the bank? Would you purchase the banknote by queuing?
(b) Suppose you can hire someone to queue on your behalf for the commemorative banknote. What is the maximum hourly wage you are willing to pay to that person? If a person requests an hourly wage of $69 to queue up for you, would you hire this person?
3. Suppose the allocation of banknotes is changed to online drawing. People can subscribe the commemorative banknotes online and the allotment is made by computer balloting. Each successful applicant can purchase one set of the commemorative banknote. The banknote can be resold in the second-hand market at $850.

(a) Suppose the transaction cost is negligible, who will get the commemorative banknote at the end?
(b) Transaction cost may, however, be significant in reality. What are the possible transaction costs involved? 
(c) With Internet, it is now convenient to obtain the information regarding the banknotes from online discussion forums and auction sites. How does this affect the transaction costs?

4. In the video, the first-come, first-served basis of selling commemorative banknotes creates a long waiting line outside the bank. People purchase snacks and drinks from the nearby food stores while queuing. On the other hand, the line blocks the entrances of other shops and their businesses are severely affected.

(a) What is an externality? Are there any externalities involved in this scenario?

(b) Market exchange can be a way to internalise external costs and benefits. Would market exchange be likely between the bank and those adversely affected shops? Explain your answer. 
Challenging Questions 
5. The bank is considering the following three methods to price and ration the commemorative banknote:

1) set it at the (estimated) market equilibrium level, assuming a perfectly competitive market;

2) set it at a price lower than the market equilibrium level  and ration the banknotes on a first-come, first-served basis;

3) set it at a price lower than the market equilibrium level and ration the banknotes by an online draw.

(a) Assume that there exists a well-functioning second-hand market for the banknotes. Would those valuing the banknotes most highly be able to purchase these banknotes under all three methods?
(b) Apart from the production cost of the banknotes, what are the costs to society if the banknotes are rationed by method 2 and 3 respectively?

(c) What are the welfare implications of different parties of these three rationing methods?  (hint: compare the change of the welfare of the parties involved among these three methods.)
(d) Sometimes auctions would be used as a way to allocate resources to the buyers who value it most. Actually, the bank conducted an auction for charity, and some commemorative banknotes with special serial numbers such as “AA888888” were auctioned. People could submit their bids to the bank by mailing a cheque. Who would receive the charity set of commemorative banknote with special serial numbers? Was this method able to allocate commemorative banknotes to the buyers who value it most?

(e) What are the welfare implications of using an auction to allocate commemorative banknotes with special serial numbers over charging a uniform market clearing price?

(f) Why does not the bank choose to allocate all the commemorative banknotes by auction?

6. Why do some people queue up for others (and get paid) instead of purchasing the commemorative banknotes and resell them in the second-hand market? 

Suggested Answers

True / False Questions:

1.F
2.F
3.F
4.F
5.T
6.F
7.T
8.F
9.T
10.F

MC Questions:

1.C
2.C
3.A
4.D
5.B
6.C
7.B
8.A
9.D
10.A

Discussion Questions:

1.  
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At equilibrium, quantity supplied equals quantity demanded, and thus there should not be a long waiting line for the banknote. Therefore, the existence of the queue implies that the market is not at equilibrium, and $150 is not the equilibrium price.

(a) Time cost incurred for queuing = $80 * 10 = $800

Total cost = $800 + $150 = $950, which is larger than the resale price of $850.

Therefore, you should not queue up for the banknote.

(b) The profit gained by reselling the banknote is $700. Therefore, maximum hourly time cost = $700/5 = $140

(c) As the name implies, non-price rationing refers to a mechanism of resource allocation using factors other than price as the determinant of distribution. For instance, scarce products can be rationed by queuing or lotteries. 

(d) No. It is likely that those people in the front of the line are willing to spend more time for the banknotes and we expect that they have a lower time cost.

(e) People with lower time cost are more likely to join the waiting line. Therefore, it is common to see the elderly and housewives in the line.
(a) Total cost= $150 + $100 * 10 = $1,150. Since it is greater than the resale price, you would not queue up for the banknote. 

(b) Maximum hourly wage = ($850- $150)/ 10 = $70. Since $69 < $70, you will hire this person.

(a) As long as the second-hand market functions well, the banknotes will be finally bought by those who value them most highly.
(b) Possible transaction costs:

Time cost spent to search for buyers and sellers, and price information etc.

(c) Products and applications of IT (Information Technology) lower the transaction cost as the time needed to gather information is shortened.

(a) Externality: the impact of one person’s actions on the well-being of a bystander and whose interests were not taken into account. In this case, both positive and negative externalities are observed:

(i) Positive externality:

Extra revenue earned by the nearby food stores

(ii) Negative externality:

Loss of revenue of nearby shops

(b) Not likely. First, the people are lining up in public areas, which are not owned by any individuals. It may be difficult to say the people lining up have infringed the right of those adversely affected shops. Therefore, the bank would not have an incentive to compensate those adversely affected shops. Alternatively, those affected shops may have, collectively, incentive to pay people for ‘not blocking the street’. However, as long as there is one shop paying the people, other shops can enjoy the benefits and may choose to be free-riders. It is hard to coordinate those affected shops to pay together, especially if the number of affected shops is large. In other words, coordination may be cost-prohibitive.

All in all, given public areas are not owned by any private bodies and high transaction / coordination cost, it is not likely that the externality problem can be solved privately.

(a) Yes. Distribution of banknotes under these three methods is the same because, with a well-functioning second-hand market, banknotes will be purchased by those valuing the banknotes most highly at the end.

(b) Method 2: Waiting line will be developed. In other words, resources would be wasted – people could engage in productive activities if they were not waiting in the line.

Method 3: The cost to society is mainly the cost of organizing the online draw and relevant administrative costs. 

(c) Method 1: Both the bank and consumers will share the total surplus

Method 2: Bank will share less surplus relative to using method 1. More surplus will be captured by those who have the lowest time cost. As they can obtain the banknotes at a relatively low cost and sell the banknote in the second-hand market.

Method 3: Bank will share less surplus relative to using method 1. Surplus will be allocated by luck – those who win the draw can sell the banknotes in the second-hand market.

(d) Those submitted the highest bids will receive the special banknotes. 
Yes, the allocation by auction was able to allocate the banknotes to those valued it most highly and submitted the highest bids.
(e) With the two methods, same total surplus is achieved. However, it is noted that producer surplus is higher in the former method while consumer surplus is higher in the latter method.  

(f) Allocating the banknotes using auction incurs administration costs which might keep the bank from selling all the banknotes by auction. 

First, they may not have the information on the resale price of the banknotes. Second, as conditions in the second-hand market are changing, the market price for a banknote is fluctuating. In other words, risk is involved in the purchasing and reselling of the commemorative banknotes. Some people may refuse to take the risk and choose to get paid for lining up for others. 

Commemorative banknote
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